Kildonan-East Collegiate

Chemistry 40S

Acids-Bases Practice Test

1. Classify the following aqueous solutions as

Arrhenius acid

Arrhenius base

Bronsted-Lowry acid

Bronsted-Lowry base

H3PO4 ___________________
NH3_______________________

2. Identify the conjugate acid-base pair in

HCO3-  +  H2O ---->  H2CO3  + OH-
3. The pH of a 2 x 10-5 mol/L solution of NaOH is ______________

Is the solution acidic or basic?

4. HCl is a strong acid while H2CO3 is a weak acid.  Which has the larger KA value?

5. Predict the products of this reaction and balance the equation.

CH3COOH  +  KOH  ----->   

6. Find KA for a 1.5 mol/L solution of acid if its pH = 4.5

7. Find the %ionization of a 1.5 mol/L solution of acetic acid KA=1.8 x 10-5
To Do list: (over)

